Theme 1 – Up to Elasticity

Up to Elasticity Multi-choice questions
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3 UK Household Expenditure (Index numbers 1971 = 100) -

Year 1991 [2005 [%
change

Real household disposable [ 170 [239 [+40.5%

income

Expenditure on foodand [117 147

soft drinks

Expenditure on clothing 187 | 460

and footwear

(Source: Social Trends 37, 2007 edition)

It can be deduced that between 1991 and 2005:

A Food and soft drinks were inferior goods

Income ela:

y of demand for food and soft drinks was greater than +1.0

€ Food and soft drinks had a positive cross elasticity of demand with respect to
clothing and footwear

D Income elasticity of demand for clothing and footwear was greater than that for
food and soft drinks

Answer

Explanation





image6.png
/| G elasticity questions and a1 x { [ Edexcel Alevel Economic: x / [ qualifcations.pearson.cor x \__ | W—_—_" W

e e e < DRC =S O X

€ # | [ qualifications.pearson.com/content/dam/pdf/A%20Level/Economics/2013/Exam%20materials/6EC01_01_que_20090603.pdf

(Total for Question 5 = 4 marks)
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6 Which of the following goods are likely to have a positive cross elasticity of demand
between them?

A Motor vehicles and rail travel
B Beefand leather

€ Motor vehicles and petrol

D Beefand animal feed

Answer

Explanation
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Type of flight Price elasticity of demand
Short haul business 070
Short haul leisure 152

Source: Department of Finance Canada 2008 (wwwfin gc.caffin-eng.htmi)

The table shows estimated price elasticities of demand for air travel for business and
leisure customers of ‘Air Canada; an airline company. It may be deduced from the data
in the table that

A demand is more price elastic for business travellers than leisure travellers

B anincrease in price for business travellers and a decrease in price for leisure
travellers will increase total revenue

C air travel is an inferior good

D The cross elasticity of demand for business air travel with regard to a change in
price of leisure air travel is negative.

Answer

Explanation
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4 Amobile phone company has 2 million customers for a package of services. Each
customer pays a monthly fee of £25. The company conducts market research and
estimates that price elasticity of demand for this package is -2.

If the company reduces monthly fees by £5, the change in total revenue is likely to be:
A +£6 million.
B -£3mi

n.
C - £6 million.

D +£3 million.

(a) Answer

(b) Explanation
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5 Estimates of income elasticity of demand for selected soft drinks for the period

2001 - 2006: n

Soft drink Income elasticity of demand
Fizzy drinks  |-024
Fruitdrinks | +0.16

Bottled water | +1.05
(Source: Nielsen/Britvic 2007)

From the data in the table it may be deduced that:

A Anincrease in consumer income will lead to a more than proportionate increase in
demand for fruit drinks.

B Adecrease in consumer income will cause a fall in the demand for all of the drinks.
C Anincrease in consumer income will lead to a decrease in demand for fizzy drinks.

D Adecrease in consumer income will lead to a less than proportionate decrease in
demand for bottled water.

(a) Answer

(b) Explanation
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Section A: Answer all the questions in this section

You should spend 35 minutes on this section. Use the data to support your answers where
relevant. You may annotate and include diagrams in your answers.

1 Outputof
tourist services
X
0
Y z Output of agricultural goods
The diagram refers to a small Caribbean island producing agricultural goods and

tourist services. Initially the economy has production possibilities shown by XY. The
production possibility line then moves to XZ. This change is most likely to have been
caused by:

A Anincrease in the demand for agricultural goods
B Arise in the cost of producing agricultural goods in terms of tourist services
€ A decrease in the demand for agricultural goods

D Technological improvements in the agricultural industry

Answer

Explanation
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2 Which of the following is the most likely consequence of an increase in the division of
labour in the production of beauty products?

A decrease in the total revenue of beauty product manufacturers

Decreased use of specialised manufacturing equipment

A decrease in the cost per unit of beauty products

o N w >

A shift in demand for beauty products

Answer

Explanation





